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1. gignmidaee fAgd_ wR I |

Intersecting of co-ordinate axis is called
2. y8 figefagennia_ Jeas |

The coordinate of originis
3. fdg(5,0)Y-g3 3nfE3 3 (At /T1=33) |

Is point (5,0) lies ony - axis (T/F)
4 v-m33fm e et faomed

The distance of the point from y- axisis
5.x- B33 flgdiedts_ faormed

The distance of the point from x- axisis __

J(.”I:l + :1:2)2 + (yl + v, )Z

6. got §39 3 I (At /T3

&) Iz this J."I.-";'.J'I SRR SN ETRE TR .| a distance formula [T /F )

7. X-gd 3 ¥ fig 2 fagemvid (X, 0) §2 o | (Adt / 913
The coordinate of x axis is (X, 0) . (T/F)
8. Ao fon 337 T ¥39es 0 901 feardmi I3 BAR g __ dat |
If the area of triangle is zero then its vertices are 1x8=8
(4 i TS YHs )
9. fdgnii (-3,10)m3(6,-8) S B e uniz §fbg (-1, 6) faangus fEg€aer J |

Find the ratio in which the line segment joining the points (-3, 10)and (6, - 8) is divided by (-1, 6)



10.X-gd T 8g figuzrad v fdenti (2,-5) 3 (-2,9) 3gdgdgdi3 = |
Find the point on x- axis which is equidistance from points (2,-5)and (-2, 9)?

11. Br fig @ fogeavig yzrad vt fdgnti (-1, 7)m3 (4,-3) dHeBseBunds3$2:3
InpuUsfEgesT I
Find the co-ordinates of the point which divides the join of (-1, 7) and (4, -3) in the ratio 2:3.

4x3=12



